Unit 6 - Lesson 9 – Comparison A4 Card –one between 2 studnets






D.  There are clearly differences and similarities between the Titanic and the Twin Towers. The Titanic was an event at sea unlike the Twin Towers which took place on land.








E.  These two events have a number of differences. The Titanic sank due to natural causes unlike the Twin Towers which were destroyed by human action when terrorists flew two planes into them.  They also differ as their timing and location are not the same. The Titanic happened at sea in the 20th Century; alternatively the Twin Towers was on land in New York in the 21st Century. 


However, there are definitely some similarities. Both the Titanic and the Twin Towers were the biggest of their type when they were built. The Titanic was a massive ship that they said could not sink. The Towers were the tallest buildings in the world. Similarly, many lives were lost in both events. Over 1,500 died when the Titanic sank and over 2,700 died when the Towers fell. 	

















B.  The Titanic was a large passenger ship. It had hundreds of passengers and was sailing to the USA. They said it could never sink. On the way it hit an iceberg and it did sink. Many people were drowned or froze in the icy water. The Twin Towers were hit by terrorists in 2001. They flew planes into the buildings. This caused huge fires and the buildings collapsed. Lots of people were killed.





A.  On one hand these events are very similar. When the Titanic sank a lot of lives were lost (1,520) like in the Twin Towers collapse where 2,750 death certificates were issued. Similarly, they both have an American connection. The Twin Towers were in New York in the USA and the Titanic was sailing to America. However, they are also different because one was due to terrorism and the other due to an iceberg.





C. These two events are the same in some ways. Both the Titanic and the Twin Towers were the biggest of their type when they were built. There are also some differences between them though. The Titanic sank due to a natural cause whereas the Twin Towers collapsed due to human action. The Titanic hit an iceberg which ripped a hole in the side but terrorists flew planes into the Twin Towers which resulted in their collapse. In a similar way massive amounts of lives were lost when they were destroyed. 


	








